20-9 Basketball Scoring

a. W=183.2, Thisis the Null Hypothesis
b. 11> 183.2, This is the Alternative Hypothesis
C.
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The mean has increased to 195.9. Though there are outliers, the distribution is symmetric, so the
mean may not have been affected by them.




Descriptive Statistics

N Minimum Maximum X S

GamePuointsScored 25 140 243 195.88 20,272
Valid N (listwise) 25

e. We do not know if this is a random sample (no mention — in fact it seems to have been
taken from games during a specific period of time), and the sample is < 30, so it might be
too small, depending on the distribution of the original data. If the original distribution is
Normal, then 25 could be okay. Vague, I know. I personaily would be very happy with
25, If you don’t have enough data, there are ways of dealing with that by 1) using
statistics created for small samples, or 2) resampling from the data set, or 3) creating data

from the dataset.
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